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QUESTION 1

Which IBM website provides the most current support matrix information for the IBM Storwize product line?
A. IBM Infocenter

B. IBM System Storage Interoperation Center

C. IBM Sales Manual

D. IBM Knowledge Center

Correct Answer: B

Reference: https://www-03.ibm.com/systems/support/storage/ssic/interoperability.wss

QUESTION 2

A customer has requested a proposal for 350 TB of NL-SAS disk storage for its new backup system. The customer
requires data availability in case of dual drive failure, fast rebuild times, and minimum capacity loss to protection
overhead.

Which RAID configuration should the technical specialist recommend?

A.RAID O

B. RAID 0+1

C.RAID 6

D. DRAID 6

Correct Answer: B

QUESTION 3

What is the compression guarantee that IBM will support for VMware if the customer does not wish to run the
Comprestimator tool for the IBM Storwize V7000?

A. 25%
B. 50%
C. 80%
D. 75%

Correct Answer: C
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QUESTION 4

A customer has two IBM Storwize V5010 systems installed at two locations and is considering IP data replication
between the two sites. The IP link between locations is a shared resource and is not scalable.

Why would Global Mirror with Change Volumes be a beneficial solution for this customer?
A. It keeps the relationship live even with limited bandwidth

B. It uses required IP connection

C. It shortens the Recovery Point Objective

D. It achieves the Recovery Time Objective

Correct Answer: A

QUESTION 5

A customer has IBM Spectrum Virtualize at the primary location and IBM Storwize V7000 at the DR location. The
customer purchased IBM VSC for both locations and wants to set up Global Mirror. What has to be done to the IBM
Storwize V7000 system to support this functionality?

A. Put SVC nodes with IBM Spectrum Virtualize in front of the IBM Storwize V7000

B. Purchase license for Remote Mirror.

C. Change the system layer to Replication.

D. Add 10 GbE adapters to the IBM Storwize V7000

Correct Answer: C

Reference: https://www.academia.edu/27750217/
IBM_System_Storage_SAN_Volume_Controller_and_Storwize_V7000_Best_Practices_and_Performance _Guidelines
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